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Right Triangle Trig/SOHCAHTOA-used to find side

lengths yvhen we have 1 side length and 1 angle measure

» What you need to know:
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» On a right triangle we need to identify 3 sides in relation to the angle “theta”
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Trisonometric ratios as fraction and decimal

Directions: Write each trigonometric ratio as a simplified fraction.
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Directions: Use your calculator to find each
trigonometric ratio. Round to the nearest hundredth.

7) tan67° =~ 2.3,

8) sin23° == 0.29 ‘ . b
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9) cos49® = 0.66

Now that we understand the set up, let’s

ractice. Find x. .
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Directions: Draw a triangle to represent the

trigonometric ratio. Then find the missing side. eyt e 12 :
' , 5 .
2 ;:4)/:“- . “f. 19S5 s N p = *
e ' 7(1": /"f'/

¥4 G ¥
Directions: Draw a triangle to represent the

situation. Then find the missing side.

16) A, B, & C are the vertices of a right triangle. Angle A = 50 degrees,
and Angle Cis the right angle. AB=12. Find AC.







